nanosecond

614400 s: Mdev= 0.62332E-14 Tdev= 2211 ps
307200 s: Mdev=0.10672E-13 Tdev= 1893 ps
153600 s: Mdev= 0.16421E-13 Tdev= 1456 ps
76800 s: Mdev=0.21888E-13 Tdev= 971 ps
- 38400 s: Mdev=0.28194E-13 Tdev= 625 ps
04/04/1 1 WtZ alg rt556 17_35 . ppp_d Efaut'l' 16d' 15 19200 s: Mdev= 0.37767E-13 Tdev= 419 ps
9600 s: Mdev= 0.57537E-13 Tdev= 319 ps
4800 s: Mdev= 0.79889E-13 Tdev= 221 ps
' : ' - 2400 s: Mdev= 0.11128E-12 Tdev= 154 ps
- 1200 s: Mdev=0.16126E-12 Tdev= 112 ps
600 s: Mdev= 0.26382E-12 Tdev= 91 ps
300 s: Mdev= 0.51382E-12 Tdev= 89 ps
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